¥ % Name : £9% Student ID # :

Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
-2 2 1 1 2 0
A=1|-10 0| and B=|-2 -3 1
1 1 =2 -2 =3 2

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

—8 —13 4
Avi = [-1]| ,Avo = | =2 |, and Avs3= | O
3 D -3
and Repg(f(v;))’s are
34 o7 —18
Repg(Avy) = | —21| ,Repg(Avy) = | =35, and Repg(Avs) = | 11
4 7 -3
Thus,
34 57 —18
Repss(f) =| [-21 =35 11
4 7 =3

Check code = (sum of all entries of Repg (f)) mod 10 = 6.

MatRep 1 Indicating your answer by underlining it or circling it. check code

Compute the check code and fill it into the box on the right. 6
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
2 2 =2 1 0 =2
A=1|-2 2 1| andB=|-11 2
1 -1 1 -1 2 3

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

2 —2 —6
Avi = [-5| ,Avo = | 4 |, and Avy = | 11
1 1 —1
and Repg(f(v;))’s are
20 —12 —40
Repg(Avy) = |=3| ,Repg(Ave) = | 2 |, and Repg(Avs)=| 5
9 -5 —17
Thus,
20 —12 —40
Repsp(f) = -3 2 5
9 -5 -—-17

Check code = (sum of all entries of Repg (f)) mod 10 = 9.

M&tfi_ep 2 Indicating your answer by underlining it or circling it. check code

Compute the check code and fill it into the box on the right. 9

o
[=]
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
-1 0 —1 12 0
A=1|1 1 =2 and B=|0 1 2
-2 2 —1 10 -3

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

—2 —2 3
Avi = |—-1| ,Avo= | 3 |, and Avy3 = |8
-3 —2 7
and Repg(f(v;))’s are
—12 16 67
Repg(Avy) = | 5 | ,Repg(Ave) = | =9, and Repg(Avs) = [—32
-3 6 20
Thus,
—12 16 67
Repgp(f) =] 5 -9 —32
-3 6 20

Check code = (sum of all entries of Repg (f)) mod 10 = 8.

MatRep 3 Indicating your answer by underlining it or circling it. check code

ENE Compute the check code and fill it into the box on the right. 8

[m] L
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
-1 -2 -1 1 0 —1
A=1|-2 =2 0| andB=|-21 0
2 2 1 -5 2 2

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

8 —4 —1
Avi=| 2 | ,Avy = [—=2]|, and Avy3 = | 2
-7 4 0
and Repg(f(v;))’s are
5) 0 —6
Repg(Avy) = [ 12| ,Repg(Ave) = | =2, and Repg(Avs) = [—10
-3 4 -5
Thus,
5 0 —6
RepB’B(f) = 12 -2 —10
-3 4 =5

Check code = (sum of all entries of Repg (f)) mod 10 = 5.

MatRep 4 Indicating your answer by underlining it or circling it. check code

E_lE Compute the check code and fill it into the box on the right. 5

r
[m] 2
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
1 11 1 2 =2
A=12 1 2 and B=|-1 -1 2
-2 0 2 0O 0 1

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3

and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

0 1 1
Avi=1|1 |, Avo= | 3 |, and Av3 = |0
—2 —4 6
and Repg(f(v;))’s are
—6 —15 11
Repg(Avy) = | 1 | ,Repg(Ave) = | 4 |, and Repg(Avs) = | 1
—2 —4 6
Thus,
—6 —15 11
Repsp(f)=/|1 4 1
-2 —4 6

Check code = (sum of all entries of Repg (f)) mod 10 = 6.

M&tRﬁP 5 Indicating your answer by underlining it or circling it.
E:.I:E Compute the check code and fill it into the box on the right.
.ll

i

check code

O
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
1 2 0 1 —1 2
A=1|-1 -2 1| andB=|[0 1 1
0O 1 -1 0 1 2

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

1 1 4
Avi = |—-1| ,Avy = |0|, and Avy = |—2
0 0 —1

and Repg(f(v;))’s are

-3 1 —1
Repg(Avy) = [—2| ,Repg(Ave) = |0, and Repg(Avs) = |3
1 0 1

Thus,

-3 1 -1

Repgp(f)=/|-2 0 =3
1 0 1

Check code = (sum of all entries of Repg (f)) mod 10 = 4.

MatRep 6 Indicating your answer by underlining it or circling it. check code

E E Compute the check code and fill it into the box on the right. 4

[m] S
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
-1 =2 1 1 -2 =2
A=1-2 0 -1 andB=|2 -3 —4
-2 0 =2 -4 7 9

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3

and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

-9 15 19
Avi=| 2 | ,Avo=| =3 |, and Avs = | =5
6 —10 —-14
and Repg(f(v;))’s are
11 —17 —29
Repg(Avy) = | 20 | ,Repg(Ave) = | =33, and Repg(Avs) = |—43
—10 17 19
Thus,
11 —-17 =29
Repss(f) = | 20 —33 —43
—-10 17 19

Check code = (sum of all entries of Repg (f)) mod 10 = 5.

MatRep 7 Indicating your answer by underlining it or circling it.

EEE Compute the check code and fill it into the box on the right.
x
IR 2

check code

D
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
-1 2 =2 10 0
A=11 -2 -1l andB=|2 1 =2
2 -1 1 —4 -1 3

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

11 4 —10
Avi=| 1| ,Avo= [—1]|, and Avz = | 1
—4 —2 )
and Repg(f(v;))’s are
11 4 —10
Repg(Avy) = [17| ,Repg(Ave) = |1|, and Repg(Avs) = | =7
19 5) —14
Thus,
11 4 —-10
RepB’B(f) = 17 1 =7
19 5 —-14
Check code = (sum of all entries of Repg (f)) mod 10 = 6.
MatRep 8 Indicating your answer by underlining it or circling it. check code

E. E Compute the check code and fill it into the box on the right. 6

[m]
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
0 —1 -2 1 -2 —1
A=12 -2 0| and B=|0 1 1
2 =2 0 1 —4 =2

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

—2 7 3
Avi=| 2 | ,Avo = [—6], and Avy = |—4
2 —6 —4
and Repg(f(v;))’s are
—6 20 10
Repg(Avy) = | —6| ,Repg(Ave) = | 19 |, and Repg(Avs) = | 11
8 —25 —15
Thus,
—6 20 10
RepB’B(f) = —6 19 11
8§ =25 —15

Check code = (sum of all entries of Repg (f)) mod 10 = 6.

MatRep 9 Indicating your answer by underlining it or circling it. check code

E_.I:':E Compute the check code and fill it into the box on the right.
3 O

[=]
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Quiz 1 MATH 104 / GEAI 1209: Linear Algebra II
Let
0O 0 0 1 -1 2
A=1|-1 2 2| and B=|-2 3 =2
1 =20 0O 1 3

Suppose f : R® — R3 is a homomorphism defined by f(v) = Av for all v € R3
and B is a basis of R* composed of the columns of B. Find Repg 5(f).

Check code = (sum of all entries of Repg 5(f)) mod 10

Solution.
Let v; be the j-th column of B. Then f(v;)’s can be computed as

0 0 0
Avi = |-5| ,Avo= | 9 |, and Avy3 = |0
5 -7 6
and Repg(f(v;))’s are
—45 73 —24
Repg(Avi) = | —25| ,Repg(Avs) = | 41 |, and Repg(Avs) = | —12
10 —16 6
Thus,
—45 73 24
Repss(f) = [-25 41 —12
10 —-16 6

Check code = (sum of all entries of Repg (f)) mod 10 = 8.

MatRep 10 Indicating your answer by underlining it or circling it. check code

Compute the check code and fill it into the box on the right. 8




